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Question Id : 92090623883 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Question Numbers : (1 to 5)
Question Label : Comprehension

HRd ¥ Ugdl HER U3 1777 5. W o 3PReY gt 3 URw fasar o | 29 sHadl 1780
S 1 I S el 91 § urdifes UR™ | g8 e ot yRdtg v &1 ggd 9HER
U3 7 3R 39% gerEr], 3Rl & sifafed A ot ueife ga 41 39 ac Uik 8n
ard 3fvsar Toie (1783), ol Teie (1784) 3M1fe THER uF +ff fagmu uaiia &wd 4|
g1 giifopra faqmoei & sifalied U=k, sirel, a%d, S, € 3i1fe & fagme off ueifRra gid 41
Iaredl 9l H Bu4 ard fagmal F it garell § wae 4 39 sifala aifie g
qur Ul S g 7 gUl Q! & fagma v 39 yeiferd fee e O Jiadi udl & are |
B gl fagmu=T 7 el @1 iy om @it 8t 1906 3. H yia e & I gl & fagma
o &l T Y- “HRd & folg, YRa | &7

fasmo=T # gge siie gyy-wfgarsi & R 8 el g 41 WRdigl &1 39 &3 § uaw
diadl warsdt & gon| ugd Rnb widt ot gent & a3 ®ud 41 dR-4R gg uafy ow gt
T3 | HRAIY dsfdhal 3R Afgant di Wdadl & 915 ol f[ayu= & &3 | ans |

R # ISTT TR0 a1 1926 5. & URS g5 | Sererani & it =i & saauiis
faIToT Tl 1 A9%aR, 1967 ¥ URR g3 | S9! Ugd TSl 3% & THIHT 97% Sl db ¢ | URd
o &1 dl. guROr 1959 5. T WY 3111 59 H1HH WR A9 Jar 1 Sad, 1976 9§ R €5 | 39
HISOH S Ugd TS 52 B 90% S-dl dd o | WA T IHRR W § fheri & = uebied
gd ¥, 71 | R & U8 R UR™ # SR Aei=R & 915 fa-fivdd Gas o @l | 399
sifaRaa dogex SR Hiarga BiF W i fafis sl ored @ 8 gl @1 818 o o 7S |

Sub questions

Question Number : 1 Question Id : 92090623884 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%ﬁWWWWWEdﬂ?

(1) 1780%. (2) 1777%.
(3) 17847%. 4) 1783 %.
Options :

92090694401. 1
92090694402. 2
92090694403. 3
92090694404. 4



Question Number : 2 Question Id : 92090623885 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRd1g defedl ofik wfgent e fagu= & & 7 o2

(1) Eagargd (2) WdFAAT P 915
(3) Jufew & (4) 3MYHP BT
Options :

92090694405. 1
92090694406. 2
92090694407. 3
92090694408. 4

Question Number : 3 Question Id : 92090623886 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST TSl T U 417

(1) Afye (2) Wwgd
(3) difte @) o
Options :

92090694409. 1
92090694410. 2
92090694411. 3
92090694412. 4

Question Number : 4 Question Id : 92090623887 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ASh # ugd T F G oA uforerd F9d1 9 82

(1) 80% (2) 97%
(3) 90% (4) 60%
Options :

92090694413. 1
92090694414. 2



92090694415. 3
92090694416. 4

Question Number : 5 Question Id : 92090623888 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR & SHR Ugd! faga dd1 Hd Y g2

(1) 1926%. (2) 1967 %.
(3) 195973 4) 1976 7.
Options :

92090694417. 1
92090694418. 2
92090694419. 3
92090694420. 4

Question Id : 92090623883 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



HRd ¥ Ugdl HER U3 1777 5. H o 3PReY fgdt 3w fasar o1 | 29 sHadt 1780
3. 7 394 gd ol A ¥ gidified U fan) g o HRdhg |t &1 Ugdl §HER
U3 7 3R 39% gHrEn], FaRt & sffafved fAama off uaifRe 818 41 39% 915 usiiRE 8n
aTd 3fvsar Teie (1783), Haddl Teie (1784) 3Mfe FHER uF i fagm ue i &wd 4|
g1 giifora faqmoeli & sifafied ok, sitel, a%d, S0, €0 onfe & fagmu= +ff usifRid gid 41
Iaredl 9l § Bu4 ard fagmei § it qarefl @ was 41 39 ifaita ot g
Yl Ul S g 7 gUl Qidd! & faqa W 39 ueiiRid fou e o) fiadl udl & e |
B are fasmu=l 7 el @t 1y om &t o4t 1906 3. H uiiara e & 31 el & fagma
o &l T Y- "HRd & fg, YRa | 97

fasmo=T # gge sife gry-wigarsi & R g el gd 41 YRl &1 39 &3 J yaw
diadl warsdt & gonl ugd Rnb widt 9 gewl & faF 9ud 31 dR-4R g8 vafy o0 gkt
T3 | HRAIY @sfdal 3R Afgant 9l Wdadl & 918 6l [aqu- & &a | os |

R § IS0 TR HaT1 1926 5. H YRS g5 | Sfrrerani & &l S=f 4 saeuiie
faIToT Tl 1 %R, 1967 ¥ URR g3 | U] Ugd TS 3% & T 97% Sd1 dP & | YRd
o &1 dl. gWROr 1959 5. T U 311 39 H1eAH W fA99E 9a1 1 96, 1976 4 UR™ €5 | 39
HISOH S Ugd TS S & 90% S-d1 d o | WM T FHRR W= § el & 9= uebiRid
gld ¥, 71 | R & Ue R UR™ H SR AHiR & 915 Ge-fied Gas o @l | 3%
sifaRaa dgex SR Hrarga wF 9 i fafte sl gy 9 8 fagmoel @1 g F o1 8 €1

Sub questions

Question Number : 1 Question Id : 92090623884 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wﬁmwwmmgm

(1) 1780%. (2) 1777%.
(3) 1784% (4) 1783 %.
Options :

92090694401. 1
92090694402. 2
92090694403. 3
92090694404. 4

Question Number : 2 Question Id : 92090623885 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YR defddl Sk Rigamt &d fagu- & &= # g2

(1) wadargd (2) WdFAAT P 9@l
(3) QIUFHSY & (4) 3H1YIH BIed
Options :

92090694405. 1
92090694406. 2
92090694407. 3
92090694408. 4

Question Number : 3 Question Id : 92090623886 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST TSl T U 417

(1) Afye (2) Wwgd
(3) difte @) o
Options :

92090694409. 1
92090694410. 2
92090694411. 3
92090694412. 4

Question Number : 4 Question Id : 92090623887 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ASh # ugd T F G oA uforerd F9d1 9 82

(1) 80% (2) 97%
(3) 90% (4) 60%
Options :

92090694413. 1
92090694414. 2
92090694415. 3
92090694416. 4

Question Number : 5 Question Id : 92090623888 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

TR % SFHR Ug A9 841 9 IF 837

(1) 19263, (2) 1967 5.

(3) 1959%. @4) 197673,
Options :

92090694417. 1
92090694418. 2
92090694419. 3
92090694420. 4

Sub-Section Number : 2
Sub-Section Id : 920906762
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090623889 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
P dadi S e A TS TS &-
A, Sfreffarg
B. ICH

£ J=ad
I fau e fasei ¥ 9 9El IR &1 984 P ;

(1) ®ddB,C D
(2) &dEAA,B,C
(3) HEACD,E
(4) HIAACE
Options :
92090694421. 1

92090694422. 2
92090694423. 3



92090694424. 4

Question Number : 6 Question Id : 92090623889 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FaRfRadadi S eV AT I 8-
A 3freifarg
B. ICH

e

C. WA
D. HARGH
E.  Jad
A fau e faeeul 7 ¥ el IR &1 994 Sy ;

(1) @ddB,C D
(2) &ddA,B,C
(3) @auCD,E
(4) HAdAACE

Options :

92090694421. 1
92090694422, 2
92090694423. 3
92090694424 4

Question Number : 7 Question Id : 92090623890 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&R B Hid 1 a1 3 g 2

(1) EXPHTBEA (2) |l DI HH BT
(3) TV BHH B @) 9 Bl F g
Options :

92090694425. 1
92090694426. 2
92090694427. 3



92090694428. 4

Question Number : 7 Question Id : 92090623890 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&R B Hid 1 a1 3 g 2

(1) EXPHTBEA (2) |l DI HH BT
(3) B &V HH BT @) 9 Bl F g
Options :

92090694425. 1
92090694426. 2
92090694427. 3
92090694428. 4

Question Number : 8 Question Id : 92090623891 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafad o 9 g< areg &1 994 $ifoT |

(1) 32 Pl WM 87 (2) 978 Pel ol 8?
(3) 3P| ®el ol 82 (4) IU Bl A g2
Options :

92090694429. 1
92090694430. 2
92090694431. 3
92090694432. 4

Question Number : 8 Question Id : 92090623891 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafad o 9 g< areg &1 994 $ifoT |
(1)  IEH Pel o 87 (2) T Pl o 8?
(3) 3P| ®el ol 82 (4) IU Bl A g2

Options :



92090694429. 1
92090694430. 2
92090694431. 3
92090694432. 4

Question Number : 9 Question Id : 92090623892 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& 4 weg fafd & g &
(1) o

(2) @I

(3) dfd

(4) ®H

= 3 71u faeseul & @ gl IR &1 =904 DI ;
(1) PadA

(2) &duB

(3) ad A 3R B M

(4) HAAC

Options :

92090694433. 1
92090694434. 2
92090694435. 3
92090694436. 4

Question Number : 9 Question Id : 92090623892 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



& T vs2 3l & gl 82

(1) adidl
(2) DI
3) dfd
(4) ®H

2 fau 7 fasedi 7 9 9El IR &1 944 Fifoiw :

(1) ddA
(2) &ddB
(3) &dd A 3R B I
(4) HdAC
Options :

92090694433. 1
92090694434. 2
92090694435. 3
92090694436. 4

Question Number : 10 Question Id : 92090623893 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S A G Heray &1 el S ®1 8 2

(1) & ¥ die| (2) TU Il
(3) &M AT (4) oned Tfthd g1
Options :

92090694437. 1
92090694438. 2
92090694439. 3
92090694440. 4

Question Number : 10 Question Id : 92090623893 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S A G Heray &1 el S ®1 8 2

(1) & ¥ die| (2) TU Il
(3)  SEH AT (4) oned Tfthd g
Options :

92090694437 1
92090694438. 2
92090694439. 3
92090694440. 4

Question Number : 11 Question Id : 92090623894 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

QUAD (@T3) % Hewl & He! HUIoiA &1 UgaH Hifeig-
A HRd

B. faugam

C. WmUH

D. S femr

u

E JUugu
F.  Giémr i
4 fau T faeedi § | Hel TR &1 994 Do ;

(1) ABCD
(2) ADEF
(3y ABEF
(4) A CDE

Options :

92090694441. 1
92090694442. 2
92090694443. 3
92090694444. 4

Question Number : 11 Question Id : 92090623894 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

QUAD (18) % H&dl & Hel HaIeiA &I ygaH Sifere-
A HRd

B. fagaam

C. wuH

D. Sefern

u

E ZUau
F. ofém sifa
12 fou 7o fasedl & | WEl 3R &1 98- Sif9e

(1) ABCD
(2) ADEF
{3y ABEF
(4) A CDE

Options :

92090694441. 1
92090694442. 2
92090694443. 3
92090694444. 4

Question Number : 12 Question Id : 92090623895 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e prR i et g S A g gs &, a g _

(1) <Y aes (2) YRAEH
(3) dacldied (4) THS dIg&h
Options :

92090694445. 1
92090694446. 2
92090694447 3
92090694448. 4



Question Number : 12 Question Id : 92090623895 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g R Tl Al s T A g s 8, 39 _

(1) gl aEs (2 URdAED
(3) O dIGd 4) TS 95
Options :

92090694445. 1
92090694446. 2
92090694447. 3
92090694448. 4

Question Number : 13 Question Id : 92090623896 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

30 ¥ fFg YRR I § TORTR I W Y T A1 S 87

(M  ufgm §rd (2) UdE
(3) IO (4) HAlCH
Options :

92090694449. 1
92090694450. 2
92090694451. 3
92090694452. 4

Question Number : 13 Question Id : 92090623896 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=0 ¥ by Rty Iy H URTR Id UHE Y H 391 §1d] 87

(1) ui&y €mre (2) UoE
(3) ISH (4) HAlCH
Options :

92090694449. 1
92090694450. 2



92090694451. 3
92090694452. 4

Question Number : 14 Question Id : 92090623897 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S0 U B -9 $a1g HAEg ARGl (FEeE) SfEFm,2019 ¥ waftd 82

(1) fad= darem (2) & HATTY
(3)  319¥ U9 TR HAY (4) 78 HARY
Options :

92090694453. 1
92090694454. 2
92090694455. 3
92090694456. 4

Question Number : 14 Question Id : 92090623897 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S0 U B H-U1 F 10 HA@g ANTRG Tl (GFEeE) i, 2019 T gaftd g2

(1) fad= garem (2) & HATGY
(3) 39 U9 TR HAWY (4) 8 HAY
Options :

92090694453. 1
92090694454. 2
92090694455. 3
92090694456. 4

Question Number : 15 Question Id : 92090623898 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HRarg Fafe= smar (3 41 o) A Rydfafea e urd & ga e & wiia @) $3A
&1 Aoy femm

(1) o srefed ardf (2) sy HI™
(3) T {TeHi uref @) U Ed
Options :

92090694457. 1
92090694458. 2
92090694459. 3
92090694460. 4

Question Number : 15 Question Id : 92090623898 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRara Fale= smar (§ 91 o) A Rydfafea e urdf & ga e &1 @i (@) $33
&1 fFofg ferm

(1) i sfed ardf 2) TS T HEsTm
(3)  3MTH 3MEH urdf @) ST Ed
Options :

92090694457 1
92090694458. 2
92090694459. 3
92090694460. 4

Question Number : 16 Question Id : 92090623899 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BHEI 31 U tfed H fa-ial &1 ®IF 918 & 26 af SR 310 ¥ 23 9f & ufdd & od fva- o 82

(1) 46 (2) 47
(3) 48 (4) 49
Options :

92090694461. 1
92090694462 2
92090694463. 3
92090694464. 4



Question Number : 16 Question Id : 92090623899 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B &1 U Ui H fa-iidn &1 =M o180 9 26 di 3R 21l 9 23 9f @ Ui ¥ & fba- 8 82

(1) 46 (2) 47
(3) 48 (4) 49
Options :

92090694461. 1
92090694462. 2
92090694463. 3
92090694464. 4

Question Number : 17 Question Id : 92090623900 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 fordt gY " ® ugd iR sifaw sl &1 Iy o ded ¢4 & dIc Seisi &7 el 3Rt
H 1 BI?

A 146
B. 453
C. 678
D. 254
E. 942

2 fau e fasedi # 9 Hel IR &1 944 $ifoid :

(1) AEBCD
(2) EBDAC
(3) ABDEC
(4) EACBD
Options :
92090694465. 1

92090694466. 2
92090694467 3



92090694468. 4

Question Number : 17 Question Id : 92090623900 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 fordt gY " ® ugd iR sifaw sl &1 Iy o ded ¢4 & dIc Seisi &7 el 3Rt
H 1 BI?

A 146
B. 453
C. 678
D. 254
E. 942

2 fau e fasedi # 9 Hel IR &1 944 $ifoid :

(1) AEBCD
(2) EBDAC
(3) ABDEC
(4) EACBD

Options :

92090694465. 1
92090694466. 2
92090694467. 3
92090694468. 4

Question Number : 18 Question Id : 92090623901 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
uiE - iy, faftm, 9=, oA ok wefem v &9 W &% ©) 9ifirg, faftm & are 981 8
I, fee & a1e 941 & 33w usfan & |y =€ a1 ot i &9 & i RY W da1 g | 9=

T ¥ R ®H R g | i, [&ftF 3R vefda & aifed 81 <ifid SR 9= 9y 93 § 99
Hed H B 82

(1) GEEY (2) d=ad
(3) offd (4) fafo=



Options :

92090694469. 1
92090694470. 2
92090694471. 3
92090694472. 4

Question Number : 18 Question Id : 92090623901 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

uie fiE-siftra, faftm, 9=, RAw SR wafdm ues o9 W &3 81 offfrg, faftm & @1g 91 8
e, e & a1¢ 941 § 33w wefda & wry 7€ 9e1 &l & 99 & 91 R w de1 8 | 9=
T ¥ R ®H R g | i, [&ftF 3R vefda & aifed 81 <ifid SR 9= 9y 93 § 99
Hed H B 82

(1) EEEl (2) dad
3) sifEd (4) fafg=
Options :

92090694469. 1
92090694470. 2
92090694471. 3
92090694472. 4

Question Number : 19 Question Id : 92090623902 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UP TSP & faF &1 3R g S gU, e aietl, “ag 74 A 31 THHE T 1Y 1 al &1
I d5® 4 o1 Had 87

(1) dgq (2) Wil
3y HI 4) =t
Options :

92090694473. 1
92090694474. 2
92090694475. 3
92090694476. 4

Question Number : 19 Question Id : 92090623902 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UP TSP & faF &1 3R g S gU, e aietl, “ag 74 A 31 THHE T 1Y 1 al &1
I A5® | 1 HaY 87

(1) dgq (2) Wil
3y HI 4) =t
Options :

92090694473. 1
92090694474. 2
92090694475. 3
92090694476. 4

Question Number : 20 Question Id : 92090623903 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= SEE B SIEU- 1368, 684, 228, 114, 38, ... 5U SGET AT ST FT EHI?
(1) 16 2 17

3 18 4) 19

Options :

92090694477. 1
92090694478. 2
92090694479. 3
92090694480. 4

Question Number : 20 Question Id : 92090623903 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=Y SEE DI SIEU- 1368, 684, 228, 114, 38, ........... 5U SEET AT HE&TT FT EFI?
(1) 16 ) 17

3) 18 4) 19

Options :

92090694477. 1
92090694478. 2
92090694479. 3
92090694480. 4



Question Number : 21 Question Id : 92090623904 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s afad A U Mg 1 Ui ¥ 36 U9 W16 SR 27 U4 I y=0i © |9 fu | ey ufawa
o 82

2 1
1 16= % 2) 33— %
(1) 3 (2) Wt
I 1
(3) 125 % (4) 665 %
Options :

92090694481. 1
92090694482 2
92090694483. 3
92090694484. 4

Question Number : 21 Question Id : 92090623904 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s afad A e FiEE 47 Ui ¥ 36 U9 W18 SR 27 U4 I w0 © |9 fn | ey ufawa
o 82

2 1
1 16= % 2) 33— %
(1) 3 (2) T
I 1
(3) 125 % (4) 665 %
Options :

92090694481. 1
92090694482. 2
92090694483. 3
92090694484. 4

Question Number : 22 Question Id : 92090623905 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



farell BT w1 A 20 AT A, B 30 &A1 H 3R € 60 &A1 & R Iha1 g1 3 &x R 37 B iR
C & BRI A S el &1 Wil ol di GR1 H1d G S | fdbeH 5 aifil?

(1) 1s5feA 2) 12fem
3) 18fea 4) ofea
Options :

92090694485. 1
92090694486. 2
92090694487. 3
92090694488. 4

Question Number : 22 Question Id : 92090623905 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faefl drf &1 A 20 RATH, B 30 3T & 3R ¢ 60 AT H o2 Opar 81 ofe g R i B @R
C & GRI A DI Hergdl & Wl el d I $1Y GG H34 1 fave & @i

(1 15feA ) 12f
(3) 18fea 4) 9feq
Options :

92090694485. 1
92090694486. 2
92090694487. 3
92090694488. 4

Question Number : 23 Question Id : 92090623906 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“NAZIBABAD" e H Tl &1 fobaH YR ¥ saafeyd far o Uahdr §7

(1) 362880 (2) 30240
(3) 60480 (4) 90720
Options :

92090694489. 1
92090694490. 2
92090694491. 3
92090694492 4



Question Number : 23 Question Id : 92090623906 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“NAZIBABAD" sz H auil &1 fhdl Ub R ¥ safeyd fban S wevan 87

(1) 362880 (2) 30240
(3) 60480 (4) 90720
Options :

92090694489. 1
92090694490. 2
92090694491. 3
92090694492 4

Question Number : 24 Question Id : 92090623907 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
63 @ 2/3 3R 93 & 1/3 &I SR fae1 g

(1) 12 (2) 31
(3) 21 4) 1

Options :

92090694493. 1
92090694494. 2
92090694495. 3
92090694496. 4

Question Number : 24 Question Id : 92090623907 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
63 & 2/3 3R 93 & 1/3 &7 3fd faea=11 S

(1) 12 (2) 31
(3) 21 4) 11

Options :

92090694493. 1
92090694494. 2
92090694495. 3



92090694496. 4

Question Number : 25 Question Id : 92090623908 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

! | & Ty Gt 1| FT HaE S (@a X &1 uE v § Wi g 9 oEi $ US e
&1 UE B, U TIYUTS &1 B+, 1/6 Bl TS B-3R 1/8 Td §U Wi o TS € 3R 11 &1 U8 A
faar

gdl-| -l

(A) TS AU HA ard faemdial &t =gAas s m 6
B) TS B+ U & drd faendffai St zmam g () 4
(€) S B YK &Y drd faemdfdi &t =amd=m . () 3
(D) US B-WHH i st gaam i (v 8

A feu 7o fawedi § 9§ Wel 3T &1 944 S

(1) (A=), (B)-(IV), (C)-(l), (D)-(I1y

(2)  (A)-(IV), (B}-(II), (C)-(I), (D)-(I)

(3)  (A)-(l), (B)-(1), (O)-(IV), (D)-(1)

(4)  (A)-(1), (B)-(), (C)-(1), (D}-(IV)

Options :

92090694497 1
92090694498. 2
92090694499. 3
92090694500. 4

Question Number : 25 Question Id : 92090623908 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4! | & Ty Gt 1| T A S (@en X &1 uP wden § Wi g S oEl $ UE e
1 US B, U HIUTs & B+, 1/6 DI US B-3AR 1/8 el BU o [ U8 C iR I &1 I8 A
foan) -

gdl-| -l
(A) TS A VI HA ard faemdfal &1 gmay dem m 6
(B) TS B+ U &3 drdl [aemffdi 1l gmam d@=m () 4
(€ U BN & ard faendiai #t gaamdsm () 3
(D) TS B- UG & ard [l #lgaaudsm (v) 8

413 fdu Tt fdeeai § 9 9el IR &1 99+ Hifeig:

(1) (A)-(0), (B)-(IV), (O)-(I1), (D)-(111)
(2)  (A-(IV), (B)-(l), (©)-(I), (D)-(1)
(3)  (A)-(IH), (B)-(1), (C)-(1v), (D)-(I1)
(4)  (A)-(n), (B)-(I), (C)-(1), (D)-(IV)

Options :

92090694497. 1
92090694498. 2
92090694499. 3
92090694500. 4

Part B: Dev and Labour Studies

Section Id : 920906474
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906763
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090623909 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Which of the following is not mentioned in the preamble and the Directive principles
of state policy enshrined in the constitution of India adopted in 1950

{1} Social Justice (2) Economic Justice
(3} Political Justice (4) Educational Justice
Options :

92090694501. 1
92090694502. 2
92090694503. 3
92090694504. 4

Question Number : 26 Question Id : 92090623909 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafifad § 9 fHus Ica ay 1950 H sitfidd YR iy & 3md SR Is9 & ifd
freeres Rygidl & =& favan man g2

(1)  HHISS A/ (2) e ™
(3)  SHITaE I 4) fém
Options :

92090694501. 1
92090694502. 2
92090694503. 3
92090694504. 4

Question Number : 27 Question Id : 92090623910 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When odd number of observations in the data given are arranged in an ascending
order, then the middle value will be

(1) Geometric mean 2y Mode
(3) Median (4) Quartile deviation
Options :

92090694505. 1
92090694506. 2
92090694507. 3
92090694508. 4



Question Number : 27 Question Id : 92090623910 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o fopdl sffepe o faws SwE ard Ueul &1 kel F | sgaled far o 8, @ 39 Rufa
T Heg 1 e

(1) I Jre (2) dgus
(3)  HiEHT @) TS fagaA
Options :

92090694505. 1
92090694506. 2
92090694507. 3
92090694508. 4

Question Number : 28 Question Id : 92090623911 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I1 :

List I List 11
(A) Traditional society (I Stagel
(B) Drive towards maturity (I) Stage 11
(C) Precondition for take-off (IIT) Stage IT11
(D) High mass consumption (IV) Stage IV

Choose the correct answer from the options given below:

(1) (A)-(ID), (B)-(I), (C)-(11I), (D)-(IV)
(2)  (A)-(D). (B)-(III). (C)-(IT), (IH-({IV)
(3)  (A)-(IV). (B)-(II), (C)~(I1I), (D)-(T)
(4) (A)-(1), (B)-(IL1), (C)-(IV), (D)-(1I)

Options :

92090694509. 1
92090694510. 2
92090694511. 3
92090694512. 4

Question Number : 28 Question Id : 92090623911 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Tl | & g1y g 11 1 e S

- -
(A)  TRURPTT HIE (y =07
(8) uURumar @&t fG=zm # () =Rou
HFHAE
(C) oY A A gd & () =
fard
(D) dS HETH @Ud (IV) ROV
A1 fau U fawedi § | Hel IR &1 99+ i
(1) (A1), (B)-(1), (C)-(1N), (D)-(IV)
(2) (A=), (B)-(1n), (C)-(IN), (D)-(IV)
(3)  (A)-(V), (B)-(I1), (©)-(11), (D)-(1)
(4) (A1), (B)-(1), (C)-(IV), (D)-(I1)
Options :

92090694509. 1
92090694510. 2
92090694511. 3
92090694512. 4

Question Number : 29 Question Id : 92090623912 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | :  For a positive externality marginal social benefit is lower than the

marginal private benefit.

Statement I  : Education, Vaccination are examples of positive consumption

eotermelities.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement I and Statement 11 are correct
(2) Both Statement [ and Statement 11 are incorrect
(3) Statement [ 15 correct but Statement 11 1s incorrect

(4} Statement [ 1s incorrect but Statement I1 is correct

Options :

92090694513. 1
92090694514. 2
92090694515. 3
92090694516. 4

Question Number : 29 Question Id : 92090623912 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

49 g1 HyA e U !

FYT| . GHRIGS eXGTd & fod irid GrTioid drH, Wid wrgdae aH I HH e gl
HYA 1 TR1g 3R BRI FHRIAAS WU T A P 360 ¢ |

IWRIE HYA & 3Meid H, A1 fou v fawedl # 998 Iuge IR &1 994 Difd

(1) YT IR NS WS
2) @Y1 3R | EF TTad 8
(3) @Y1 9S8, WG HYA 11 T §
(4)  HYF | TTEE 8, AT FUA 11 98T §



Options :

92090694513. 1
92090694514. 2
92090694515. 3
92090694516. 4

Question Number : 30 Question Id : 92090623913 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Scheme Year

(A) Beti Bochao Beti Padhao - 2015

(B) PM Ujjawala Yojana - 20186
() National pension scheme for Traders,

Shopkeepers and Self-Employed person - 2019

(D) Ayushman Bharat, Digital Mission - 2021

Choose the correct answer from the options given below :

(1) (A), (B) only

(2) (A, (B), (C)only

(3) (A), (C), (D) only

(4)  (A), (B), (C), (D) only

Options :

92090694517. 1
92090694518. 2
92090694519. 3
92090694520. 4

Question Number : 30 Question Id : 92090623913 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



W@ af

A, o2 FES @1 ugre 2015
B. DMl Iadl greHl 2016
C. oMUYl gPHaRl 3R a-fFaifeid safddi

& fore g UeE whie 2019
D. SIS HRd fefores fiem 2021
A fau U faseul § ¥ el IR 1 9 Sy :
(1) dd A B
(2) &dd A, B, C
(3) &dd A, C D

(4) &dd A, B, C,D

Options :

92090694517. 1
92090694518. 2
92090694519. 3
92090694520. 4

Question Number : 31 Question Id : 92090623914 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Twpe-1 errors are called significance tests. Manyn applications of hypothesis testing
are of this type. Here what is TYPE-I error?

{A) When Ho is true, reject Ho

(B) When Ha is true, accept Ho
(C) When Ha is false, accept Ha
(D) When Ho is false, accept Ho

Choose the correct answer from the options given below :

(1)  (A) only

(2)  (A). (C) only

(3)  (A). (B), (D) only
(1)  (A), (B) only

Options :
92090694521. 1



92090694522. 2
92090694523. 3
92090694524. 4

Question Number : 31 Question Id : 92090623914 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UeR-| @ Jfedl @) wife qfiar &gl S\l 81 UReeHES YHa & dgd I U 39
TR & Bl &1 T8 YPR-1 I HF 0 &2

S Ho U 8 W Ho 1 3RdIHR farar & &
S Ho U 8 W Ho &1 Wi fobar ofrar &
S Ha I & U3 Ho &1 WiBR & rar &
&d Ho TTd & U¥q Ho @1 WieR fdhdl Sral &
R RRu e faspedl # & Wl IR &1 997 I

(1) &dd A

2) &ad A C
(3) dd A B D
(4) &dd A B

o N = >

Options :

92090694521. 1
92090694522. 2
92090694523. 3
92090694524. 4

Question Number : 32 Question Id : 92090623915 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements : One 1z labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion (A) : A family in India is a corporate group whose members act together to

meet their commom purposes.

Reasons (R): A member of the family cannot legally claim to the economic returns

of his own skill and enterprise.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A} and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
{3} {A) 18 correct but (R) 18 not correct

(4} {A) 1s not correct but (R) is correct

Options :

92090694525. 1
92090694526. 2
92090694527. 3
92090694528. 4

Question Number : 32 Question Id : 92090623915 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



911 &1 F U TN §: U fUHYA (Assertion A) & ®Y T foilEd g df O IWH BRI
(Reason R}%W ff;

AHBYA A : HRd § URER U& A (GRURE) 94 B & s §a8 U4 9=
YIS B R & & fag Gy I fee 19 a3d & |

PRUR : uREaR &1 &5 9 3UY ST R I & fow RBffe v 9 snfde
Ui d &1 oIdT A8l B dhdl|

RIS $YA & 3fTeid H, A iU e fasedl o 9 9&d IJuged IR &1 994 Sifoie

(1) ASRRIA U8l € 3R R A& U] BT 8

2 A 3RREH UG ¢ AfBA R A P el & TR
3) ATEE AfFTREE TS ®

(4) AUEITEE AfFPARTER

Options :

92090694525. 1
92090694526. 2
92090694527 3
92090694528. 4

Question Number : 33 Question Id : 92090623916 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct chronology:

(A) Green Revolution

{(B) First Industrial Policy

(C)  Abolition of MRTP act

(D) Liberalisation, privatisation and globalisation policy

(E)  Abolition of planning commission

Choose the correct answer from the options given below :

(1) (A), (B), (D), (C) and (E)
(2) (B, (A) (D), (C) and (E)
3y (B), (A), (E), (C) and (D)
(4)  (C), (E). (B), (A) and (D)

Options :

92090694529. 1
92090694530. 2
92090694531. 3



92090694532. 4

Question Number : 33 Question Id : 92090623916 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el BIArHH -
A eRawifd
B. UYH =i Hifa

C. TUH R U e

D. QaRiHRv, Fsfievur 3R ddfisu ifd

E. IS 3MTAT T HHIUA

9 fau T fasedi § 9 el IR &1 TG B ;

(1) ABDC3RE
(2) B,AD,CS3RE
(3) B,AECSRD
4 CEBASRD

Options :

92090694529. 1
92090694530. 2
92090694531. 3
92090694532. 4

Question Number : 34 Question Id : 92090623917 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements : One is labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion (A): There are relatively high drop outs from Government schools

compared to private schools.

Reasons (R):  The quality of mid-day meal needs improvement,

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both {A) and (R) are correct and (R) is the correct explanation of (A)
() Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3 (A) 1s correct but (R) 1s not correct

(4) (A) 15 not correct but (R) 18 correct

Options :

92090694533. 1
92090694534. 2
92090694535. 3
92090694536. 4

Question Number : 34 Question Id : 92090623917 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

13 g1 YA 3T TN §: U SHHFHUT (Assertion A) F FY  H ffEd § o TR IS BRI
(Reason ) F &Y #;

HUPYT A : Ul Wal B ga-l § ORI Wl d did H Ugls Sie- ard 81 &) 48
YT D Blal B

PHRUIR qHTE-HISH (e € e &1 Jurasdl 3§ YUR &34 &1 a8l g |
IR FYF & 3Mars |, A fGU U fasedl 7 9 968 Iuga I &1 994 Hifed

(1) A3RREH WS € 3R R, A P! 98I SRS ©

(2) A SRREH U8l 8, A R, A &1 U8l U8 7ol &
(3) AVEE AFIRTETHE

(4) AWEITEIE APTRULI®

Options :



92090694533. 1
92090694534. 2
92090694535. 3
92090694536. 4

Question Number : 35 Question Id : 92090623918 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The only statistical measure possessing the necessary mathematical properties to
make it useful for advanced statistical work.

(1) Coefficient of variation (2) HKurtosis
(3) Standard Deviation (4) Moment coefficient of skewness
Options :

92090694537. 1
92090694538. 2
92090694539. 3
92090694540. 4

Question Number : 35 Question Id : 92090623918 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS Hitens g A 5 38 39 Hife® g 1 & foru Iuait §=1d &1 101 8l 82

(1) WIS (2) dhdl HET (i)
(3) HES faadq (4) AN P &UNIUNID
Options :

92090694537. 1
92090694538. 2
92090694539. 3
92090694540. 4

Question Number : 36 Question Id : 92090623919 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement 1 :  Drain of wealth theory refers to a portion of a national poduct of

India which was not available for consumption to its people.

Statement I  : Remittances or salaries and other incomes by British company

officials sent to England.

In the light of the above statements, choose the correct answer from the options given

below :

{1} Both Statement 1 and Statement 11 are correct
(2} Both Statement 1 and Statement 11 are incorrect
(3) Statement I 1s correct but Statement 11 1s incorrect

(4) Statement I 1s incorrect but Statement I is correct

Options :

92090694541. 1
92090694542. 2
92090694543. 3
92090694544. 4

Question Number : 36 Question Id : 92090623919 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ARG s R e

Y| . AP BT P RGid ¥ Mg HRd & drll & I9HIT & fou Iuas 78T 41|
wY 11 fafew Su & wr=ial Sl ve T U, 394 31 3 S|

SWRIT ©YA F 3fcilep H, - fau MU fawedl A J Hel I 994 Hifoe

(1) ®YF | SR S
(2) @Y SR I EF Ted 8
(3) HYFI9ElE AfPA PN TTAd B
4) Y| TAd B, AipI YT I Hal B



Options :

92090694541. 1
92090694542. 2
92090694543. 3
92090694544. 4

Question Number : 37 Question Id : 92090623920 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The gross tax revenue collection of the Union Govt in India in FY2021-2022 is

{1} 21 Lakh Crore (2) 18 Lakh Crore
(3} 30 Lakh Crore (4) 27 Lakh Crore
Options :

92090694545. 1
92090694546. 2
92090694547. 3
92090694548. 4

Question Number : 37 Question Id : 92090623920 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

farcia @ 2021-22 # HRd F F TWHR BT Ybd S Ao TIE0 &

(1) 21 dREHUAS (2) 18 @ FUS
(3) 309 HUS (4) 27 TEHFUS
Options :

92090694545. 1
92090694546. 2
92090694547. 3
92090694548. 4

Question Number : 38 Question Id : 92090623921 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



‘BAMARTH’ programme is related to

(1)  Development of agrneculture (2) Development of banking sector
(3) Development of manufacturing {4) Development of education sector
Options :

92090694549. 1
92090694550. 2
92090694551. 3
92090694552. 4

Question Number : 38 Question Id : 92090623921 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HHY' (SAMARTH) ®THH FHgfiad feu uve @ Jdfia 8

(1) N & fae™ 2) oI Yo &1 [dH™
(3) fafFmior daez &1 fde (4) Tren deex &1 fAe™
Options :

92090694549. 1
92090694550. 2
92090694551. 3
92090694552. 4

Question Number : 39 Question Id : 92090623922 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The measure computed as the ratio of the standard deviation to arithmetic mean of a
distribution expressed as percentage is known as

(1) Moment coefficient of skewness (2) Coefficient of standard Deviation
(3) Coefficient of Kurtosis (4) Coefficient of variation
Options :

92090694553. 1
92090694554. 2
92090694555. 3
92090694556. 4

Question Number : 39 Question Id : 92090623922 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

yfaerddl & U # sifiyeadd St faawor & sie nifordy Ared & fdgeq & suad & a9 §
uiesTerd HIYH deardl g

(1) O B &0 Ul (2) AF® =
(3)  dIhal °HET (4) R BNH
Options :

92090694553. 1
92090694554. 2
92090694555. 3
92090694556. 4

Question Number : 40 Question Id : 92090623923 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GST collection in the FY 2022 is approximately.

{1} 7 Lakh Crore (2) 4 Lakh Crore
i(3) 10 Lakh Crore (4) 12 Lakh Crore
Options :

92090694557. 1
92090694558. 2
92090694559. 3
92090694560. 4

Question Number : 40 Question Id : 92090623923 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faita @y 2022 W off v & TR (¥ Ud a1 YU A Fafifed AP @ '

(1) 7A@ HAS (2) 4TEHUS
(3) 10 @ B3 4) 12 @IS
Options :

92090694557. 1
92090694558. 2
92090694559. 3



92090694560. 4

Question Number : 41 Question Id : 92090623924 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement | : Defense, communication are public goods in the central list.

Statement 11 :  Health, Education are merit goods. They are in the concurrent list

according to the 7t schedule of the constitution.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement | and Statement 11 are correct
(2) Both Statement I and Statement 11 are incorrect
(3) Statement I is correct but Statement 11 15 incorrect

(4) Statement [ is incorrect but Statement 11 15 correct

Options :

92090694561. 1
92090694562. 2
92090694563. 3
92090694564. 4

Question Number : 41 Question Id : 92090623924 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR T RumE
HY | - URRE, SOR $1g G & i SFard uisas 189 B

HYA I - m?&n'ﬁﬁawﬁlﬁﬁm @1 7dl Y P HTIR T THEdl gl o
it gl

IR HYF & el |, Fid U U f[deed] d 9 981 Iuisdhl 994 Siforg

(1) Y| 3R 11 TR
(2) YA SR I EF Tad &
(3) Y| UEIE AlFAPUA N TAd©
(4) Y| T 8, AT YA 11 qE

Options :

92090694561. 1
92090694562. 2
92090694563. 3
92090694564. 4

Question Number : 42 Question Id : 92090623925 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The fiscal deficit of Union Government for Financial year 2021-22

(1) 20.4 Lakh Crore (2) 15.87 Lakh Crore
(3) 10.21 Lakh Crore (4) 6.47 Lakh Crore
Options :

92090694565. 1
92090694566. 2
92090694567. 3
92090694568. 4

Question Number : 42 Question Id : 92090623925 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faita & 2021-22 & o & o S GXdR &1 TGS NG 9Tl &

(1) 204 dE FUS (2) 15.87 A IS
(3) 1021 AEHUS 4) 647 ARG HUS



Options :

92090694565. 1
92090694566. 2
92090694567. 3
92090694568. 4

Question Number : 43 Question Id : 92090623926 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sum of squares of all deviations from arithmetic mean is always

(1) Negative (2) Zero
(3) Infinity (4) Positive
Options :

92090694569. 1
92090694570. 2
92090694571. 3
92090694572. 4

Question Number : 43 Question Id : 92090623926 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3ie T | & 9 Raadi & aif 1 am eRm e 8

(1) APRAS (2) H
(3)  Hdadr (4) HERHE
Options :

92090694569. 1
92090694570. 2
92090694571. 3
92090694572. 4

Question Number : 44 Question Id : 92090623927 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who was the author of ‘My Experiments with Truth'

{1} Jawaharlal Nehru (2) M.K. Gandhi
(3} Jamnalal Bajaj (4) Nelson Mandela
Options :

92090694573. 1
92090694574. 2
92090694575. 3
92090694576. 4

Question Number : 44 Question Id : 92090623927 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A THURHCH e g &1 da@e S U2

(1) dE @d J8%& (2) UHE. T
(3) SHATHR g9 (4) AcHd Haa
Options :

92090694573. 1
92090694574. 2
92090694575. 3
92090694576. 4

Question Number : 45 Question Id : 92090623928 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Geometric mean of four number series 2, x, 16, 32 1s 8. What 1s the value of 27

(1) 2 (2) 4
(3 5] (1) &
Options :

92090694577. 1
92090694578. 2
92090694579. 3
92090694580. 4

Question Number : 45 Question Id : 92090623928 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

2, x, 16, 32 Sl IR W1l &1 Y@ &1 S 41 8 8 | T8l x &1 713 1 82

(1 2 (2) 4
3) 6 4) 8
Options :

92090694577. 1
92090694578. 2
92090694579. 3
92090694580. 4

Question Number : 46 Question Id : 92090623929 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following economic growth models assumes Netural technical progress

(&) Schumpeter model
(BY Harrod-model

(C) Roston model

(D) Solow model

Choose the correct answer from the options given below :

(1} (B) and (D) only
{2) (A) and (B) only
(3) (A) and (C) only
(4) (B) and (C) only

Options :

92090694581. 1
92090694582. 2
92090694583. 3
92090694584. 4

Question Number : 46 Question Id : 92090623929 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafafaa # ¥ o1 91 onftfe faem™ Alsa dewy ad-ie! Wifd &1 Tuls adl gl
A, THHI AISA

B. gUSHIsd
C. URAHEA
D. ddd Hisd
AT fow e fasseul 7 9 gl IR &1 98- HIfY -

(1) &dd B3R D
(2) ad AR B
(3) &dd AR C
(4) ad B3R C

Options :

92090694581. 1
92090694582. 2
92090694583. 3
92090694584. 4

Question Number : 47 Question Id : 92090623930 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In terms of birth rates in Indian states arrange in the ascending order;

{A) Pungab
(BY Assam
(Cy UP

Dy  Orissa
(Ey Kerala

Choose the correct answer from the options given below :

(1) (E), (A), (D), (B), (C)
(2)  (A) (B). (D). (C), (E)
(3)  (E), (B). (A). (D), (C)
(4)  (A), (C). (D). (E), (C)

Options :

92090694585. 1
92090694586. 2
92090694587. 3



92090694588. 4

Question Number : 47 Question Id : 92090623930 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-3 31 £ ¥ URd Il (uidh) &1 SRS HH | Saieid &

A U9

B. 3H

C. ITRUS™ @
D. SfifsEm

E. &

14 fau U [9edl § 9§ 9el IO &1 994 BT -

(1) E,A D BC
(2) A BDCE
(3) E.BADC
(4) ACDEC

Options :

92090694585. 1
92090694586. 2
92090694587. 3
92090694588. 4

Question Number : 48 Question Id : 92090623931 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements : One 15 labelled as Assertion (A) and the other 1s

labelled as Reason (R).

Assertion (A): The battle of Plassey (1757) meant a fundamental change in the

nature of India’s foreign trade.

Reasons (R): India exported goods to Europe in return for which it received some

commuodities, but mainly in bullion.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) 18 false but (R) 18 true

Options :

92090694589. 1
92090694590. 2
92090694591. 3
92090694592. 4

Question Number : 48 Question Id : 92090623931 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



41 &1 $vF QU U §: U@ SfUHYA (Assertion A) & Y F foifed § dl gO1 396 BRI
(Reason R) & &7 H;

EYH A . Wl & gg ¥ URd & 439 AR &1 udfd d geyd uRad= smn

FHRUIR : HRA, 9 1 agsil 1 Frafd ar o o[ 99d 7 38 (WRd ) 38 Tl
i g1 w1 § Fidl F e (Rear e ) urd gd 2

IR HYA & 3Tl |, i iU U [ el § J "8l I &1 994 Sifolw

(1) AJMRRIATITE R R A D Tl A= &

(2) A S3RREA 9™ g, AMHAR, A T U1 TS 6l &
3y ATIE ABARIATR

4 ANTIE APFTRIATE

Options :

92090694589. 1
92090694590. 2
92090694591. 3
92090694592 4

Question Number : 49 Question Id : 92090623932 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{A) The policy of progressive expansion of the public sector was initiated in the 1=
five wear plan of India.

(B) The policy of Green Revolution was initiated in 1950s.

() Monopohies and Restricted Trade practices Act has been changed to
competition commission of India

(D) The evasion of taxes results in generation of black money.
(E)  One Nation One Ration Card (UNORC) is implemented to help migrant labour.

(Choose the correct answer from the options given below :

(1) (A), (C) and (D) only
(2)  (B). (C) and (E) only
(3) (A), (B)., (C) and (D) only
{4) (C), (D) and (E) only

Options :

92090694593. 1
92090694594. 2
92090694595. 3



92090694596. 4

Question Number : 49 Question Id : 92090623932 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A, YRd H giaue &3 & IR [are! Hifd ggdl daadiy Jie- & 3= 31 78 4
B. @R mifd &t ifd 1950 & gaH & g 4t

C. URIYSHR R ufddurars sgmifasar ifufgad aRada #3389 yRd ufawgef
ST |- T

D. @R & Udad A BT 4 HIA Eal &

E U P U I9E HIS (4 U 1 3R ) HI Warit Horgdl P Fgraa Hierg Sriad
fearma g

44 feu e fasedi § 9 98l 3R &1 99+ ifod :
(1) HAdE A, C3ARD

(2) $daB,CHRE

(3) HdAA B3RD

(4) PFAC DIRE
Options :

92090694593. 1
92090694594. 2
92090694595. 3
92090694596. 4

Question Number : 50 Question Id : 92090623933 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements :

Statement I :  Part of inflation in India in FY 2022 is attributed to food inflation.
Statement I1 :  Cereals and vegetables are the major contributors to food inflation
in FY 2022,

In the light of the above statements, choose the correct answer from the options given

below ;

(1) Both Statement I and Statement I are correct

(2) Both Statement 1 and Statement Il are incorrect
(3) Statement 1 is correct but Statement I1 is incorrect
(4) Statement I is incorrect but Statement Il is correct

Options :

92090694597. 1
92090694598. 2
92090694599. 3
92090694600. 4

Question Number : 50 Question Id : 92090623933 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RS syERrmE
YT ;. HRA H iy ay 2022 ¥ 3 AEMS &1 SR WIE US| & Hem e gl

B I - ﬁ%ﬁznzzﬁmwﬁﬁﬂﬁﬁmwwmmqﬁﬂﬁrﬁqﬁm
[

JWRIF HYA & 3l |, i iU U [ edl § 8 Hol Iudl 99+ diferg

(1) HYEI RIS T8l &
(2)  HYA| SR I SHI TTad §
(3) PYTIFSIE ABA DY TTEd T
(4) YT 7Td g, A YA | el

Options :



92090694597. 1
92090694598. 2
92090694599. 3
92090694600. 4

Question Number : 51 Question Id : 92090623934 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List I1:

List 1 List 11
{A) Rejecting Ho when it is (I) Sampling Ramdom
true

(B) Population is homogeneous (II) Type I error

(C) Mean is egual to degree of (I1I) Skewed distribution
freedom

(D) Mean = Mode {(IV} x2 distribution

Choose the correct answer from the options given below:

(1) (A)-(ID), (B)-(IV), (C)-(I1T), (D)-(I)
(2) (A1), (B)-(I), (C)-(IV), (D)-(11T)
(3)  (A)-(I), (B)-(11T), (C)-(IV), (D)-(11}
(4) (A1), (B)-(IV), (C)-(I). (D)-(111)

Options :

92090694601. 1
92090694602. 2
92090694603. 3
92090694604. 4

Question Number : 51 Question Id : 92090623934 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g | & 9y g 1 & e S

- gt -
(A) HoB ILEPR I TG Ig TA 8l () e uded
(B) SHHE WEIG Bl & Iy UPRIFRE
(€) Wi, WaAd®d! el & R Eaie (1)) 95 fGaRur
(D) WY > dga® (v) »x? faavor

4 feu e fawedi # 9 9el IR &1 984 FifT;

(1) (A1), (B)-(IV), (Q-(), (D)-()
(2) (A1), (B)-(I), (C)-(IV), (D)-(lH)
(3) (A, (B)-(1I), (C)-(IV), (D)-(IN)
(4) (A1), (B)-(IV), (O-(1), (D)-(ID)

Options :

92090694601. 1
92090694602. 2
92090694603. 3
92090694604. 4

Question Number : 52 Question Id : 92090623935 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11 :

Last | Last 11
(A) Partition of Bengal (Iy 1907
(B) Surat split of congress (IT) 1905
() Rowlatt Act (III) 1943
(D) Azad Hind Fauj (IV) 1919

Choose the correct answer from the options given below:

(1} (A)-(IT), (B)-(IV), (C)-(I), (D)-(11L)
(2) (A)-(III). (B)-(1T). (C)-(IV), (D)-(I)
(3) (A)-(IT), (B)-(1), (C)-(IV), (D)-(11I)
(1) (A)-(IV), (B)-(TIT), (C)-(IT), (D)-(T)

Options :
92090694605. 1
92090694606. 2



92090694607. 3
92090694608. 4

Question Number : 52 Question Id : 92090623935 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Al | & 9 g 1| & e st

G- -l
(A) ETcreT fauTeH () 1907
(8) HXd H HUY & faure () 1905
€) e ide () 1943
(D) 3MT9TTE fée B (v) 1919

4t fau e faeedi O 9 wel IR &1 99 Sifor:

(1) (A=, B)-(IV), (Q)-(1), (D)-(IIT)
(2)  (A)-(I), (B)-(), (C)-(IV), (D)-(1)
(3) (A1), (B)-(1), (C)-(IV), (D)-(lIT)
(4)  (A-(IV), (B)-(lD), (©)-(), (D)-(1)

Options :

92090694605. 1
92090694606. 2
92090694607. 3
92090694608. 4

Question Number : 53 Question Id : 92090623936 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In 2019-20, Central Government converted all Central Labour Laws in the following
codes:

(4) The code on wages

(B) The Industrial Relations Code

(C) The Code on social security

(D) The occupational safety, Health & working conditions code

(E) The code on women wages

Choose the correct answer from the options given below :

(1)  (A), (B). (C) only

(2) (A, (B), (C), (D) only

(3)  (B).(C), (D), (E) only

(4) (A), (B), (C). (D). (E) only

Options :

92090694609. 1
92090694610. 2
92090694611. 3
92090694612. 4

Question Number : 53 Question Id : 92090623936 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ay 2019-20 B 419 TSR 4 9t Sy 41 ST Hufarad digasi & uikafda # R
A Feigdl dadt g

B. SN dey wfgar

C. Wi YRaf et wfgar

D. SIS Y&l RIS 1 220 digd

E. wfgcnsil & Hergdl Ydd wigd

A9 feu e faseul ¥ 9 9! IR &1 98+ SHifo

(1) @dd A B, C
(2) @dd A B CD
(3) &dd B, C,D,E

(4) &dd A B, C, D E

Options :
92090694609. 1



92090694610. 2
92090694611. 3
92090694612. 4

Question Number : 54 Question Id : 92090623937 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements : One is labelled as Assertion (A) and the other is

labelled as Reaszon (R).

Assertion (A) : If trade unions restrict labour supply or negotiate wages that are
above the market-equilibrium, the net effect 1s a trade off between

wages and employment.

Reasons (R): By improving job security, unions may make workers more prepared
to accept changes in working practices that lead to productivity

gains.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 15 correct but (R) 18 not correct

{4) {A) 1s not correct but (R) 1s correct

Options :

92090694613. 1
92090694614. 2
92090694615. 3
92090694616. 4

Question Number : 54 Question Id : 92090623937 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



11 1 $ U U € UF HHBYUA (Assertion A) B FY T fafad & d THI IUF HROI
(Reason R}%Qﬁq ff,'

AMHYT A © TS AoigR T, BT MY HA W Ulaay T 3o ¢, 91 Ul Aoigd & arR #
dIddd S € ol SeR o ¥ S1fE g d 39@T1 FRd U Jugd 3R
IR di 9% fafFaamR gear g

HRUIR : GiTd GR& H YUR TIH Holge 94, Hulgr] &) $1d gRuriedl # T8 uRdd=l &
WIPHR H & o 316 TR B GPhd & [oFd SURHAH e ¢ |

JUIE FYF & 3@l d, A fGu e fas el 7 9 968 Iuge IR &1 994 Sifoie

(1) A SRRSHA U8l § 3R R, A &I UEl 1 8

(2) ASRREH U € Al R A | U8l ARSN 6l &
(3) AGHE APTIRUG AR

(4) AW TEIE APTRES T

Options :

92090694613. 1
92090694614. 2
92090694615. 3
92090694616. 4

Question Number : 55 Question Id : 92090623938 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Life expectancy in ascending order in various countries

{A) Japan
{(B)Y Canada
(C) India
(D) China
(E) UK

Choose the correct answer from the options given helow :

(1) (C), (B), (A). (E), (D)

(2)  (C), (D), (B), (E), (A)

(3)  (C), (A), (D), (E), (B)

(4)  (C), (E), (B). (A), (D)
Options :

92090694617. 1
92090694618. 2



92090694619. 3
92090694620. 4

Question Number : 55 Question Id : 92090623938 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafir 2wl 7 SMRIgt od | Sila SHred|
A, SIUH

B. ISl

C. YRd

D. dH

E &

1< feu 7o fawedi 1 9§ Hel 3T &1 994 Bifeid

(1 C.B.AED
(2) C.D,BEA
(3) C,A DEB
(4) C.EBAD

Options :

92090694617. 1
92090694618. 2
92090694619. 3
92090694620. 4

Question Number : 56 Question Id : 92090623939 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



MNC’s can help the developing nations to:

{A) Obtain foreign technology and innovation methods of increasing productivity.
{(B) Employ rural nuemployed labour.
(C) Finance a saving gap deficit,

() Finance a balance of payment deficit

Choose the correct answer from the options given below :
(1)  (A). (B) only

(2) (A, (B).(C) only

(3) (A (C), (D) only

(4)  (A), (B), (C), (D) only

Options :

92090694621. 1
92090694622 2
92090694623. 3
92090694624. 4

Question Number : 56 Question Id : 92090623939 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o U 3, femaeia 3 @) Frafafa & e Semar s aad & -

A, JARCHA dgH B FaraR) UGiadl SR el Urifie! ura & & e
B. UHIU SIS YTHST &1 AR UaH F:34 & e

C. &dd 3idd 91 & fIU € Ui SH3d iy

D. YT e H1e & forT o UaH & Hiere

12 f3u U Rsedl 7 9 9el IR &1 9 ST :

(1) dd A, B
(2) &dd A, B C
(3) dd A C, D

(4) &dd A B, C. D

Options :

92090694621. 1
92090694622. 2
92090694623. 3
92090694624. 4



Question Number : 57 Question Id : 92090623940 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The n** root of the product of ‘n’ values in a distribution 1s called

(1) Harmomic Mean (2} Geometric Mean
(3) Mode (4) Semi Quartile Range
Options :

92090694625. 1
92090694626. 2
92090694627 3
92090694628. 4

Question Number : 57 Question Id : 92090623940 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fapefl faaur & 'n' AT & UFEE &I 74 Jd &1 Fed 6

(1) EI&HS |1 (2) g "y
(3) dgad @) gl [e)
Options :

92090694625. 1
92090694626. 2
92090694627. 3
92090694628. 4

Question Number : 58 Question Id : 92090623941 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The following products are not converted by GST (Goods & Services Tax)

(1) Electronics & Textiles {2) Electrical & Hotels
(3) Automobiles & Tyres (4) Petroleum & Alcohal
Options :

92090694629. 1
92090694630. 2
92090694631. 3
92090694632. 4



Question Number : 58 Question Id : 92090623941 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafeiaa 3dre of Ta & (@%g ok ¥a1 ) 1 SR 78] fPu M gl

(1) gCaeli-ey 3R SqHeEe (@)
(2) gofdeHd SR gied

(3)  SMIEHEEd 3R e

(4) UdIfeEd 3R sfedigd

Options :

92090694629. 1
92090694630. 2
92090694631. 3
92090694632. 4

Question Number : 59 Question Id : 92090623942 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion (A): Public Distribution System and Land Reforms policies have been

formulated to fulfil the objective of reducing income inequality.

Reasons (R):  Government economic and social policies have potential impact on
income distribution directly or indirectly.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3} (A) 15 correct but (B) 1s not correct

(4) (4A) 18 not correct but (R) is correct

Options :
92090694633. 1
92090694634. 2



92090694635. 3
92090694636. 4

Question Number : 59 Question Id : 92090623942 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

#1931 YA 3T W & TP SAHDUA (Assertion A) & FU  H forlad 8 @ 9 39S FRU
{Reason R}%F‘J ﬁ;

HPYT A . WduHS [Gaeor gonterd! R Yl guR Y& fifadl &1 em & s
HHBD Fe.90 DI G HI & ot qaR b T/ g |

PFRUIR : TWHR DI AF R e Jifadl &1 Mg & O | yde Aus
UHd ISl g

IURIE HYF & 3 H, A1 fu e fasedi 7 9 969 Iuged I &1 994 Hifeig

(1) A SRRGH Ul § 3R R, A | &l A=A &

(2) A SRR EH UE € AfBA R A T el = AL ¢
(3) AUEIE APIRUSI AT ©

(4) AT TEE APTREDE

Options :

92090694633. 1
92090694634. 2
92090694635. 3
92090694636. 4

Question Number : 60 Question Id : 92090623943 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(7iven below are two statements :

Statement 1 :  Start ups in India have grown remarkably over last one decade,

most of these are in service sector.

Statement I :  Service sector in India 18 on the top in the priority list of

Government of India.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement 1 and Statement 11 are correct
(2} Both Statement 1 and Statement 11 are incorrect
(3) Statement [ is correct but Statement 11 is incorrect

i4) Statement [ 18 incorrect but Statement 11 15 correct

Options :

92090694637. 1
92090694638. 2
92090694639. 3
92090694640. 4

Question Number : 60 Question Id : 92090623943 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TRaFyE R

Y| ;. S U IS # YR H ¥IEH 39 # I@E-1d gfa g5 &, 390 & Uiy da
&3 (FdfE gaex) " el

YA Il HRd HUl 41 &7, URd WHR oI s e A fiw g |
IWRIed YA |, 1 AU 7 fawedl § § 998 IF IR &1 999 Sifell

(1) Y| AR A T B
(2) YA 3R I SF1 TAd 8
(3) HYF | TE g, Al Y I TR B
(4) YT | T g, Wb HYF || el &

Options :

92090694637. 1
92090694638. 2
92090694639. 3
92090694640. 4

Question Number : 61 Question Id : 92090623944 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who has written a sociological classic, “The Philadephia Negro: A social study (1899)7

(1) William Edward Burghart Du bois (2) R.J Rummel
(3) Stevan Weine (4 Joan Wallach Scott

Options :

92090694641. 1
92090694642. 2
92090694643. 3
92090694644. 4

Question Number : 61 Question Id : 92090623944 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= aWTS agie Tartas e harsiawar 4 ; U 9id w3l (1899) ST/ Bl g

(1) fafgwm vsas wfars gy agy
(2) RS I

(3) o agA

(4) WM dTdTE WIE

Options :

92090694641. 1
92090694642. 2
92090694643. 3
92090694644. 4

Question Number : 62 Question Id : 92090623945 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The present sex-ratio in India is

(1) 250 Women vs 1000 Men (2y 1000 Women vs 1000 Men
(3) 1020 Women vs 1000 Men (4) 1030 Women vs 1000 Men
Options :

92090694645. 1
92090694646. 2
92090694647 3
92090694648. 4

Question Number : 62 Question Id : 92090623945 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRd ¥ gcwE # e ourd 8

(1) 850 AR &9 1000 Y39 (2) 1000 AZATE §99 1000 J&Y
(3) 1020 Afg@md §919 1000 3N (@) 1030 Afg@d 9919 1000 T3Y
Options :

92090694645. 1
92090694646. 2
92090694647. 3
92090694648. 4



Question Number : 63 Question Id : 92090623946 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The total food production of India (in million tons) currently is

(1) a40 (£) 410
(3) 320 (4) 315
Options :

92090694649. 1
92090694650. 2
92090694651. 3
92090694652. 4

Question Number : 63 Question Id : 92090623946 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR &1 $a @Il IdIeA (Afeg- e ) &

(1) 340 (2) 310
(3) 320 (4) 315
Options :

92090694649. 1
92090694650. 2
92090694651. 3
92090694652. 4

Question Number : 64 Question Id : 92090623947 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Approximately 80% of revenue collections of Union Government come from

(1) Direct Taxes (2) Customs Duty
(3) Indirect Taxes (4) Petroleum Products
Options :

92090694653. 1
92090694654. 2
92090694655. 3
92090694656. 4



Question Number : 64 Question Id : 92090623947 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fg ISR & oI B AT 80% IMe! Frafafas 7 4 fFad aidh

(1) W& (2) Y
(3) AU (4) UTifead Idrg
Options :

92090694653. 1
92090694654. 2
92090694655. 3
92090694656. 4

Question Number : 65 Question Id : 92090623948 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List 11 ;

Last I List 11
{A) Collective conscious (I} Where only observable and
measurable behaviours
should be studied
(B) Positivism (I} Associated with Durkheim
() Moralization (III) To describe the structure of

groups within societies

(D) Social stratification (IV) Which governing rules or
behaviours are promoted as
the common standards, n
the interest of society.

Choose the correct answer from the options given below:

(1) (A)-(D). (B)-(I1), (C)-(IV), (D)-(11)
(2)  (A)-(ID), (B)-(III), (C)-(1), (D)-(IV)
(3)  (A)-II), (B)-(D), (C)-(IV), (D)-(11I)
(4) (A)-(IT), (B)-(I11), (C)-(IV), (D)-(I)

Options :

92090694657. 1
92090694658. 2
92090694659. 3



92090694660. 4

Question Number : 65 Question Id : 92090623948 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | & |1y = 11 & e i

G-I eI
(A) HITSS SFETT () el Haa Uewr 4 SR A9 g
R &1 ey fobar a1 g
(B) WA ) IEIHY dds

(C) UEEREIUSCUSA (1) FATE & HieR THgl 1 W= &1
CLUEERE]

(D) HISIE THIHI (V) F91e & fea § fa ot Al sryarn
AW & JH HFcs & 9 4
derI fou 9 &

12 faw e f9eul # 9 HEl IR &1 984 Do

(1) (A)-(D). (B)-(l1), (O)-(IV), (D)-(l1)

(2) (A=), (B)-(l1), (O)-(1), (D)-(IV)

(3) (A, (B)-(1), (C)-(1V), (D)-(llN)

(4) (A1), (B)-(HI), (C)-(IV), (D)-()
Options :

92090694657 1
92090694658. 2
92090694659. 3
92090694660. 4

Question Number : 66 Question Id : 92090623949 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One 1z labelled as Assertion (A) and the other is

labelled as Reazon (R).

Assertion (A): In Second world war, on the one side were Germany, Italy and

Japan, called the Axis-Powers.

Reasons (R):  On the others were Great Britain, France, USA, USSR, etc called the

Alhed-Powers. Germany had to face defeat.

In the light of the above statements, choose the most appropriate answer from the

options given below :

{1} Both (A) and (R) are correct and (R) is the correct explanation of (4)
(2} Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 15 correct but (R) is not correct

(4) {A) 1s not correct but (R) is correct

Options :

92090694661. 1
92090694662. 2
92090694663. 3
92090694664. 4

Question Number : 66 Question Id : 92090623949 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



#1931 YA 3T TN € U HUSHUT (Assertion A) F TY  H fAfEd 8 ol TR ITF SHROI
(Reason R}%F‘I ff,'

Aty A - fodia oy ge # ve e o, gedt aur s 4 158 ot 1y et S Al

®RUR : 39 g W gl R I feed, 5 g U8 ¢ U9 UY 3R g forg e
fdal Sel Al 4T | S BT ER 8% | b

IURIHR HY $ 3fTeie §, 19 G T faedl § 9 96 3uged Ik &1 994 Sifau

(1) ASIRREH Usl € SRR, A &1 el TS &

(2) AARREH 9gl 8 dfd R, A DI el ARAT el &
3) AUEE AfFTIRIS AR

(4) AWRITEIE AfPTREEE

Options :

92090694661. 1
92090694662. 2
92090694663. 3
92090694664. 4

Question Number : 67 Question Id : 92090623950 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

NASSCOM stands for :

(1) National Association of Software and Hardware Service Companies
{2)  National Academy of Software and Hardware Service Companies
(3) National Association of Software and Service Companies

(4) National Academy of Software and Service Companies

Options :

92090694665. 1
92090694666. 2
92090694667. 3
92090694668. 4

Question Number : 67 Question Id : 92090623950 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UA U 0H Uy 3 3 UH 1 fa%gd FU &

(1)
(2)
(3)
(4)

A9E THIRUYE 3% e dsr UUS g5 dsR Hiay &+
AL TS ST Feder UUE BrRder Jdi -t
AT THITRUH S WUedaR UUg §idy S

AT UH Sl 1P JUed 3R UUE Jiay H-Te

Options :

92090694665. 1
92090694666. 2
92090694667 3
92090694668. 4

Question Number : 68 Question Id : 92090623951 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What are the three key factors to scale Happy Planet Index?

(A)
(B)
(C)
(D)
(E)

Life expectancy, human well being

Life expectancy, Enviromental Damage

Life expectancy, human well-being, Damage via the environmental footprint
Art culture and health

Technology, Literacy and Infant Mortalily

Choose the correct answer from the options given below :

(1)
(2}
()
(4)

(A). (B) & (E)
(O), (D) & (A)
() Only

(E). (D) & (B)

Options :

92090694669. 1
92090694670. 2
92090694671. 3
92090694672. 4

Question Number : 68 Question Id : 92090623951 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



! Siia Ga&i® (eUl WHT Soa9) Bl HITH & ol & SRS H1 o7
A, 3T U, AT S

B. SRy Huifaa, &fd
C. S WyIfadr, H1d Sedmvl, JaiaRviy Uea™ & gRl &fa
D. @dl qul GpidsiR Wl

E. Rl waral, Rgag e
19 fqu e faeedt § 9§ Ul IR &1 99A S

(1) ABSRE

(2) C D3RA

(3) dd C

4 E,D3RB
Options :

92090694669. 1
92090694670. 2
92090694671. 3
92090694672. 4

Question Number : 69 Question Id : 92090623952 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



GGiven below are two statements : One is labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion (A): Fiscal Policy uses the government finances to achieve the macro-

economic goals.

Reasons (R): Governement uses taxation, Public expenditure program to achieve

desirable goals on National Income, production and employment

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 15 NOT the correct explanation of (A)
(3) (A) 18 correct but (R) is not correct

(4) {A) 1s not correct but (R) is correct

Options :

92090694673. 1
92090694674. 2
92090694675. 3
92090694676. 4

Question Number : 69 Question Id : 92090623952 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



13 g1 HyA 3T T & U SHHBHUA (Assertion A) F FY ¥ fAfEd & I IR IUS HRU
(Reason R) F ¥Y H;

AMFEYT A - e g 7 e faa &1 Iun gy snfife damt &1 urd s
iora fara ot g1

HRUIR : YIHR HRIYM, Tl Y PIUHH BT IJTAN AP 318, Iaured 3R TSR
et Fifeyd ey U FA Hieg B ¢ |

IR YA & 3fdls ¥, A9 iU M0 faemedl 7 9 998 Iugad Ik &1 994 i

(1)  ASRREH U8l & 3R R, A T Yo! RS 8

(2) AJARREH UEl 8, Al R, A P el AT el &
(3) AUEE AFI RIS TEE

(4) AUEITEIE AfPTR TS ®

Options :

92090694673. 1
92090694674. 2
92090694675. 3
92090694676. 4

Question Number : 70 Question Id : 92090623953 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



India’s key external debt (US § billion)

Match List I with Last I1 ;

List 1 List 11
Year Amount
(A) 2017 Iy &/73.6
(B) 2018 (II) 558.4
(C) 2020 (ITI) 471.0
(D) 2021 (IV) 629.3

Choose the correct answer from the options given below :

(1 (A)-(I), (B)-(I1), (C)-(IV), (D)-(I1I)
(2)  (A)-(ID), (B)-(D), (C)-(11D), (D)-(IV)
(3) (A1), (B)-(IV). (C)-(ID), (D)-(1)
(4)  (A)-(II), (B)-(IV), (C)-(I), (D)-(I1I)

Options :

92090694677. 1
92090694678. 2
92090694679. 3
92090694680. 4

Question Number : 70 Question Id : 92090623953 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HRd & Yo faail 3o (sl fafemm Ser)

Match List | with List Il ;

T | (@) T 11 (i
(A) 2017 () 5736
(B) 2018 () 5584
(C) 2020 (1 471.0
(D) 2021 (V) 5293

42 feu 7 fasedi # 9 98l TR &1 9594 DI

(1) (A0 (B)-{ID), (C)-(IV), (D)-(lIN)
(2) (A=), (B)-(1), (C)-(l), (D)-(IV)
(3) (A=), (B)-(1V), (C)-(l), (D)-(1)
(4)  (A)-(), (B)-(IV), (C)-(1), (D)-(lT)

Options :

92090694677. 1
92090694678. 2
92090694679. 3
92090694680. 4

Question Number : 71 Question Id : 92090623954 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The advent of the Europeans as per Chronology :

{A) Portugese East India Company
(B) Dutch East India Company

()  English East India Company
(D) Danish East India Company
(E) French East India Company

Choose the correct answer from the options given helow :

(1} (A), (B).(C), (D) & (E)
2y (A), (C) (B), (D) & (E)
(3) (D). (E), (A). (B) & (C)
(4} (A, (D), (C). (B) & (E)

Options :



92090694681. 1
92090694682. 2
92090694683. 3
92090694684. 4

Question Number : 71 Question Id : 92090623954 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PIAGHNER HRd H ZRIMOG] &1 A
A gdmreh $% $fEE e

B. &93% fgursw

C. SiUdl 3l 5% sfea sl

D. FuTw emETH

E. e Se Sfear et

2 feu U fasedi § 9 98l IR &1 954 Fifoe
1) ABCDA&E

2) ACBD&E

3 D,EABA&C
4 ADCB&E

[

(
(
(
(

Options :

92090694681. 1
92090694682. 2
92090694683. 3
92090694684. 4

Question Number : 72 Question Id : 92090623955 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In case of high extreme values in the data set which measure of central tendency
should be appropriate to use :

(1) Mean (2) Median
(3) Mode (4) Harmonic mean
Options :

92090694685. 1



92090694686. 2
92090694687. 3
92090694688. 4

Question Number : 72 Question Id : 92090623955 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

od 999 (331 90) § 3= WA AH g9 W oyld Udii @1 5y A1 &1 IuT &3
— QUYa g

(1) HH (2) W
(3) Egud 4) BIHS HIA

Options :

92090694685. 1
92090694686. 2
92090694687. 3
92090694688. 4

Question Number : 73 Question Id : 92090623956 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pollution is an example of market failure because :

(1)  The market price is less than the efficient price
(2)  The market price is higher than the efficient price
(3)  Property rights are poorly defined

{4) Those who suffer from pollution are Compemsated outside the market

Options :

92090694689. 1
92090694690. 2
92090694691. 3
92090694692. 4

Question Number : 73 Question Id : 92090623956 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U] SR Bl &1 Us 3360 & Hife

(1) SR e UuTd e 3 &1 &
) ENR Hed UMTd e ¥ S §

(3) i & SR BT faavul sRidysHS &1 9 fooan mar g
@) oS Ul ¥ gHYE 8 g, 399! UfaHfd 99R & el #1 9dl 8

Options :

92090694689. 1
92090694690. 2
92090694691. 3
92090694692. 4

Question Number : 74 Question Id : 92090623957 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List I1 :

Last I List I1

(A Nominal data (I) Are you satisfied to spend
money every day?

(B Ordinal data (II) How many times you spend
money in a day?

(C) Discreate data (I1I) How much money yvou spend
in a day?

(D) Continuous data (IV) Do you spend the money

every day ?

Choose the correct answer from the options given below :

(1) (A, (B)-(ID), (C)-(I1D), (D)-(IV)
(2 (A1), (B)-ALD), (C)-(1D), (D)-(IV)
(3)  (A)-(IV). (B)-(D. (C)-(1D), (D)-(111)
(4)  (A)-IV), (B)-(ID), (C)-(I), (D)-(I1I)

Options :

92090694693. 1
92090694694. 2
92090694695. 3
92090694696. 4

Question Number : 74 Question Id : 92090623957 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

gl | & Ty g 1 &1 e Sifsre

-1 gl i
(A) duifdas od ST () @T%ﬂquﬁfﬁﬁﬁﬂﬁiﬁﬂﬁﬁ!@r
ady

(B) HHYAD oo W () A U 8 A et ar U9 wd 6
() fafded g el (1) 39+ U & o e 0w faan
(D) Tdd < It (V) EMHI R EIHWEE

412 fau v f9sedi § | 9l IR &1 999 Pifee:

(1) (A0, (B)-(1), (O)-(1), (D)-(IV
(2)  (A)-0) (B)-(1), (C)-(I), (D)-(IV
(3)  (A-(V), (B)-(I), (-, (D)-(I

)

)
)
)
(4)  (A)-(V), (B)-(In), (O)-(1), (D)-(1)
Options :

92090694693. 1

92090694694. 2

92090694695. 3

92090694696. 4

Question Number : 75 Question Id : 92090623958 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For the small sample, which of the following test is used.

(1) t-test () F Test
(3) Z Score (4) Chi Square
Options :

92090694697. 1
92090694698. 2
92090694699. 3
92090694700. 4

Question Number : 75 Question Id : 92090623958 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



oy ufdesi & fore Frafifed # 3 g odan <1 3udi i e 82

(1) @ udian (2) U Udiaq
(3) ol udlan 4) g WU
Options :

92090694697. 1
92090694698. 2
92090694699. 3
92090694700. 4

Question Number : 76 Question Id : 92090623959 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ownership class which uses all the means of Production with the sole aim of
maximizing profit 1s known as

(1) Command Model (2) Mixed Economy
(3) Capitalist Model (4) BSocialist Model
Options :

92090694701. 1
92090694702. 2
92090694703. 3
92090694704. 4

Question Number : 76 Question Id : 92090623959 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

mﬁaa;@mﬁiﬂﬁm 1 IUGN Had AeHaH aH PHM & Ie30 § T 6,
hedldl

(1) gAY ufa=y (2) Hf%a srfegar
(3)  Yellard! ufasy (4) FHeERE ufaeEy
Options :

92090694701. 1
92090694702. 2
92090694703. 3
92090694704. 4



Question Number : 77 Question Id : 92090623960 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Maternity Leave for working women has been increasing by Government of India
from

(1) 12 to 26 weeks (2) 10 to 20 weeks
(3) 15 to 22 weeks (1) 10to 28 weeks
Options :

92090694705. 1
92090694706. 2
92090694707. 3
92090694708. 4

Question Number : 77 Question Id : 92090623960 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRT SXHR A SIHEN Algarst & fod vyl g2l # ofs @1 &

(1) 12 e 9 9g1H 26 9dE (2) 10 Ui ¥ Sgldhy 20 TWTg
(3) 15 9le ¥ Fg/h 22 e (4) 10 U ¥ SgIa 28 Ile
Options :

92090694705. 1
92090694706. 2
92090694707. 3
92090694708. 4

Question Number : 78 Question Id : 92090623961 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of Jobs created by “digital economy” in India so far are :

(1) 7.1 Crore {2} 5.21 Crore
(3) 8.15 Crore (4) #8.15 Crore
Options :

92090694709. 1
92090694710. 2



92090694711. 3
92090694712. 4

Question Number : 78 Question Id : 92090623961 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRA H 3t 9o sl srfemawr (FEfoed gaih) gr1 g o # 9en g -

(1) 7188 (2) 521 &8
(3) 81FUS (4) 624 S
Options :

92090694709. 1
92090694710. 2
92090694711. 3
92090694712. 4

Question Number : 79 Question Id : 92090623962 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement [ : Ryotwari system introduced in Bombayv and Madras. Viceroty

Munro and Charles Reed recommended it.

Statement 11 1 In this, a direct settlement was made between the Govt. and the

ryot (Cultivator).

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement 1 and Statement Il are correct

(2) Both Statement | and Statement Il are incorrect
(3) Statement 1 is correct but Statement 11 i1s incorrect
(4) Statement I 18 incorrect but Statement 11 1s correct

Options :
92090694713. 1



92090694714. 2
92090694715. 3
92090694716. 4

Question Number : 79 Question Id : 92090623962 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 &1 HuA 3T U € U SfUFHUA (Assertion A) F FY  H fAfEd 8 O IR ITH SR
(Reason R}a'_’m ﬂ;

HHBYT A ©  GddRT YUTell avas SR HER H P &I 715 o], aER §AR Y 9red 3
LR GEUEIRE AR

PHRUR : S WHR Y1 ¥d (far) & ol e deiasd (@eaie) gai Uil
SR HYF & e |, A1 fGu U fas el # 8 g€ Iuged I &1 994 Hifeie

(1) AJRREH Ul ¢ 3R, A S UgI 3T 8

(2) ASIRREH 4§, A R, A P1 U reA e &
3) ATEE AfFTRUE TR

(4) AUEITEIE APTRUAE

Options :

92090694713. 1
92090694714. 2
92090694715. 3
92090694716. 4

Question Number : 80 Question Id : 92090623963 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List 11 ;

List 1 List 11

(A) Social Protection (I) The process by which people
act and react in relation to
others

(B) Social Reproduction (II) A Set of benefits to the
individuals or household to
reduce multidimensional
poverty and deprivation

(C) Social Stratification (III) The maintenance of power
and privilege between social
classes from one generation
to the other

(D) Social Interaction (IV) A system by which society
ranks categeries of people in
hierachy

Choose the correct answer from the options given below :

(1) (A)-(11I), (B)-(IV), (C)-(1), (D)-(1D)
2 (A)-IV), B)-(D), (O)-(ID), (D)-(I1T)
(3)  (A)-(D, B)-(ID), (C)-aV), (D)-(I)
@) (A)-0), B)-1), (©)-(I1), (D)-(IV)

Options :

92090694717. 1
92090694718. 2
92090694719. 3
92090694720. 4

Question Number : 80 Question Id : 92090623963 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl | & a1y = 11 1 e S

- Gl I

(A) HHISP Y& () dg ulchal fSHe gRT Al U g8 & a1y
foran 3R ufafcran & &

(B) WTHIfSIP YASAIGH (1) Sguaty TRie qur g1 &1 W & & fag
URAR & gl &1 e &1 U 95=Id

(C) WIS TS () U N 8 g9 Gidl ab & gEifeid o &
aTe wfd a1 [AAwieRT &1 Say RaA!

(D) IS =1 fesan (Iv) 98 Ygld, {9 & grR1 9Hrs |l &l Sfow
&l Yermd § 4vft 95 SR8

At fau e fdeedi O ¥ Tel IR &1 9 Sifrg;

(1) (A=), (B)-(v), (©-(1), (D)-()
(2)  (A)-(IV), (B)-(1), (C)-(I), (D)-(lN)
(3)  (A)-(), (B)-(l), (C)-(IV), (D)-()
(4) (A1), (B)-(IN), (C)-(1), (D)-(IV)

Options :

92090694717. 1
92090694718. 2
92090694719. 3
92090694720. 4

Question Number : 81 Question Id : 92090623964 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is the author of the book * The Enigma of Capital (2009)?

(1) Ha — Joo Chang 2}  Andreu Gamble
(3 David Harvey (4) Jim Jackson
Options :

92090694721. 1
92090694722. 2
92090694723. 3
92090694724. 4

Question Number : 81 Question Id : 92090623964 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

qEad ‘g U S Hited (2009) F TGP § -

(1) BISEm (2) T_YinEd
3) 3fsed 4) f&u SamA
Options :

92090694721. 1
92090694722. 2
92090694723. 3
92090694724. 4

Question Number : 82 Question Id : 92090623965 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Under the Government of India’s flagship programme, “swachhata Abiyan”, the total
number of toilets (IJJAT GHAR) built in the country between 2014-2022 are

(1) 14 crore (2) 14.5 crore
{3} 11 crore {4) 8 crore
Options :

92090694725. 1
92090694726. 2
92090694727. 3
92090694728. 4

Question Number : 82 Question Id : 92090623965 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WA TRPR & HolTg SIHH “Iaagdl A" & 3=aid a9 2014 ¥ 99 2022 & &9 29
H g9 T SrETad] (3id W) D od S 8

(1) 148 (2) 145
3) 1S 4) 8FUS
Options :

92090694725. 1
92090694726. 2
92090694727. 3
92090694728. 4



Question Number : 83 Question Id : 92090623966 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The total number of Covid Vaccinations administered by Union government till now
in the country are:

(1) 210 crore (2) 220 crore
(3} 230 crore (4) 200 crore
Options :

92090694729. 1
92090694730. 2
92090694731. 3
92090694732. 4

Question Number : 83 Question Id : 92090623966 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y T 3fd T g WHR gRI TR T Hifde Sl B Fd T ¢;

(1) 2103 (2) 220FI8
(3) 2303 (4) 200 S
Options :

92090694729. 1
92090694730. 2
92090694731. 3
92090694732. 4

Question Number : 84 Question Id : 92090623967 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Land settlement was introduced by the British Govt. in the year

(1) 1757 (2) 1853
(:3) 1793 (4) 1857
Options :

92090694733. 1
92090694734. 2
92090694735. 3



92090694736. 4

Question Number : 84 Question Id : 92090623967 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

foIeTe TP R R WA deiawd foby a¥ %= fogn mar Ut

(1) 1757 (2) 1853
(3) 1793 (4) 1857
Options :

92090694733. 1
92090694734. 2
92090694735. 3
92090694736. 4

Question Number : 85 Question Id : 92090623968 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Policy of Green Revolution was initiated in the year

(1) 1962 (2) 1965
(3) 1968 (4) 1970
Options :

92090694737. 1
92090694738. 2
92090694739. 3
92090694740. 4

Question Number : 85 Question Id : 92090623968 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gha wifa #1 Aifd fFa v 3= 31 718 i

(1) 1962 (2) 1965

(3) 1968 4y 1970
Options :

92090694737. 1



92090694738. 2
92090694739. 3
92090694740. 4

Question Number : 86 Question Id : 92090623969 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The strategy during second five yvear plan (1956-61) was

(1) Development of Agriculture (2) Development of irrigation
(3) Focus on Health & Education (1) Emphasison heavy industry
Options :

92090694741. 1
92090694742. 2
92090694743. 3
92090694744. 4

Question Number : 86 Question Id : 92090623969 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2ot Uerasfy GIsHT (1956-61) & SR ORI o |

(1) PP fasE 2) TS &1 fae™
(3) g gy e wad (4) HRI I W Id
Options :

92090694741. 1
92090694742. 2
92090694743. 3
92090694744. 4

Question Number : 87 Question Id : 92090623970 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



According to the world bank classification system, economies are classified to
different income levels. Which one is correct range of defining lower-middle income
countries in term of us 3.

(1) % 1,025 or leas (2} % 1.026 and $4356
(3) $ 1,026 and % 4035 (4) § 1,026 and % 7508
Options :

92090694745. 1
92090694746. 2
92090694747. 3
92090694748. 4

Question Number : 87 Question Id : 92090623970 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fas de arffe=or yomell & AR srdogawa &1 Fffeur fdar Srar g1 Frafafefead & 4 o
g Uy $& uel # Fg-ne oy aret &30 & ufvuiiia $3 &1 Ut e 82

(1) $1,025 Y@l & (2) $ 1,026 37X $4356
(3)  $1,026 3R § 4035 4) $1,026 3R $ 7508
Options :

92090694745. 1
92090694746. 2
92090694747. 3
92090694748. 4

Question Number : 88 Question Id : 92090623971 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to latest Budget 2022-23, the exemption limit of income tax has been
increased upto

(1) % 8lakhs (2) ¥ 75 lakhs
(3) ¥ 7lakhs (4) ¥ B85 lakhs
Options :

92090694749. 1
92090694750. 2
92090694751. 3
92090694752. 4



Question Number : 88 Question Id : 92090623971 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tmzazm-zz%wmmﬁ%@m%ﬁmﬁaﬁmﬁwzﬂ
T 87

(1) 8dRdIUY (2) 7.5 WRdBYY
(3) 7EEEIY @) 8.5 T IUY
Options :

92090694749. 1
92090694750. 2
92090694751. 3
92090694752. 4

Question Number : 89 Question Id : 92090623972 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following 18 not used to calculate unemployment rate

(1} Number of emploved
(2) Number of unemployed
(3) Number of people attaining education

i(4) Labour foree

Options :

92090694753. 1
92090694754. 2
92090694755. 3
92090694756. 4

Question Number : 89 Question Id : 92090623972 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrofalRed # 9 e Sug sRISTH] &3 &1 70T & forg &) fosan i 872

(1) SR U safaadi &t dem (2) ISR faaal & w@e
3) RenumesRaffamisiden (4 ot g

Options :



92090694753. 1
92090694754. 2
92090694755. 3
92090694756. 4

Question Number : 90 Question Id : 92090623973 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tobin Taxis a Taxon:

(1) Transaction in the share market
(2} Transaction in the money market
(3) Trangaction in the Commodity market

(4)  Transaction in the foreign exchange market

Options :

92090694757. 1
92090694758. 2
92090694759. 3
92090694760. 4

Question Number : 90 Question Id : 92090623973 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

eifed o Fafaiad § ¥ 69 iR @ 914 aral 1 82

(1) YRR H a7 (2) &l aoR H oF-g4
(3) oK €GRH d4-¢H (4) facel He1 SOR | @-¢F
Options :

92090694757. 1
92090694758. 2
92090694759. 3
92090694760. 4

Question Number : 91 Question Id : 92090623974 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements 1s false?

{1) The balanced budget multiplier 1s unity when taxes are lump-sum tax.

{(2)  The balanced bhudget multiplier is less than unity when taxes are ad valorem
taxes.

(3)  Tax multiplier is less than govt.expenditure multiplier

(4)  Tax multiplier is more than govt.expenditure multiplier

Options :

92090694761. 1
92090694762. 2
92090694763. 3
92090694764. 4

Question Number : 91 Question Id : 92090623974 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Prafafad # 9 SF- sy gl 22

(1) ST PR UHHI IR EId g, ol Hferd Soie Ture TS gidl &

(2) Ol B HAFUR R Bl 8, o Iford Soie U 3HTs GHH gl &
() TV TSR I O FH €Il §

(4)  TUTE WHR] Y oIS F P gl §

Options :

92090694761. 1
92090694762. 2
92090694763. 3
92090694764. 4

Question Number : 92 Question Id : 92090623975 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Sustainable Development Goals are for the period:

(1) 2015-2020 (2) 2015-2025
{3) 2015-2030 (4) 2015-2035
Options :

92090694765. 1
92090694766. 2



92090694767 3
92090694768. 4

Question Number : 92 Question Id : 92090623975 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gad faerg asg 1 safi g -

(1)  2015-2020 (2) 2015-2025
(3)  2015-2030 4) 2015-2035
Options :

92090694765. 1
92090694766. 2
92090694767 3
92090694768. 4

Question Number : 93 Question Id : 92090623976 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | : India 1z following action oriented policies to bring rapid

development while purposefully addressing climate changes.
Statement 1 : Climate change impacts are a result of the total accumulated

green house emissions,

In the light of the above statements, choose the correct answer from the options given

helow :

(1) Both Statement | and Statement Il are correct
(2) Both Statement I and Statement Il are incorrect
(3) Statement [ is correct but Statement I1 is incorrect

(4) Statement | is incorrect but Statement I1 1s correct

Options :



92090694769. 1
92090694770. 2
92090694771. 3
92090694772. 4

Question Number : 93 Question Id : 92090623976 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 1wy RRu e €
®YA| ;.  HRd Sadryg uiad- R HIg 39 9 Gd g did faem @ & e sri=gei, o
&1 SRV ST & |

YAl Taaryg URadd & UHE $o died diF 8139 Iei & gRumd g1
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Options :

92090694769. 1
92090694770. 2
92090694771. 3
92090694772. 4

Question Number : 94 Question Id : 92090623977 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Narasimha Rao — Manmohan Singh model of economic reforms have

(1) increased growth and foreign direct investment
(2} benefited agriculture sector
() increased self reliance

(4)  reduced income — inequalities

Options :

92090694773. 1
92090694774. 2
92090694775. 3



92090694776. 4

Question Number : 94 Question Id : 92090623977 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3nfifer faepra & RfReT va - e Rig ufesu @

(1) fAemaufedvgaFaudaigase
(2) FHAABIAHENE

3) SAfRTAIReE?

(4) i rHFTT Ul ©

Options :

92090694773. 1
92090694774. 2
92090694775. 3
92090694776. 4

Question Number : 95 Question Id : 92090623978 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{A) Soil transmitted Helminthiases is known as parasitic intestinal worm
infection.
(B) The first Health and Wellness Centre was inaugurated in 2015,

(C) Avushman Bharat Digital mission aims at creating a secured online health
records of citizen.

(D) Under Universal Immunisation Programme immunisation is being provided
free of cost against 12 vaceine preventable diseases.

(E) The Social security expenditure on health has increased from 2 percent in FY
2015 to 15 percent of total health expenditure at present.

Choose the correct answer from the options given below :

(1}  (B). (C), (D) Only
(2}  (A), (B), (E) Only
(3) (A, (C), (D) Only
(4) (A, (C). (E) Only

Options :

92090694777. 1
92090694778. 2
92090694779. 3



92090694780. 4

Question Number : 95 Question Id : 92090623978 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(3) &ddA C D
(4) HAAACE

Options :

92090694777. 1
92090694778. 2
92090694779. 3
92090694780. 4

Question Number : 96 Question Id : 92090623979 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion (A): The World's largest vaccination programme against COVID — 19 was

launched in India on 1% December 2020,

Reasons (R): The Vaccination has played a key role in minimizing loss of lives in

India

In the light of the above statements. choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 15 correct but (R) 1s not correct

(4) (A) 1s not correct but (R) is correct

Options :

92090694781. 1
92090694782. 2
92090694783. 3
92090694784. 4

Question Number : 96 Question Id : 92090623979 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(4) AUGITEIE AfPTRUSR

Options :

92090694781. 1
92090694782. 2
92090694783. 3
92090694784. 4

Question Number : 97 Question Id : 92090623980 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(Ginni coefficient is normally used to measure

(1) Inequality in level of development
(2} Inequality in the level of education
(3) Inequality in income

(4) Inequality in health

Options :

92090694785. 1
92090694786. 2
92090694787. 3
92090694788. 4

Question Number : 97 Question Id : 92090623980 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl Turiee Judn rErga: fae! A & o far o 82

(1) oo w4 s
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Options :

92090694785. 1
92090694786. 2
92090694787. 3
92090694788. 4

Question Number : 98 Question Id : 92090623981 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

At present India is the largest economy in the world :
(1)  4th (2) BHth
(3} Beo (4) A

Options :

92090694789. 1
92090694790. 2
92090694791. 3
92090694792. 4

Question Number : 98 Question Id : 92090623981 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y gHY YRd &I a4 o1 g el g
(1) 49 (2) sdf
3) 63l @ 39
Options :

92090694789. 1
92090694790. 2
92090694791. 3
92090694792. 4



Question Number : 99 Question Id : 92090623982 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Sum of the deviations from Arithmetic mean of all observations is alwavs

(1) Infinity (2) Positive
(3) Lero (4) Negative
Options :

92090694793. 1
92090694794. 2
92090694795. 3
92090694796. 4

Question Number : 99 Question Id : 92090623982 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

it U & SrTeTe e 9 f[agaHl &1 an guen EGEIG
(1) 3 (2) TS
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Options :

92090694793. 1
92090694794. 2
92090694795. 3
92090694796. 4

Question Number : 100 Question Id : 92090623983 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Nobel laureate who helped India’s Green Revolution Programme immensely

(1) P.C. Mahanobis (2) Hargovind Khurana
{3} Norman Borlaug (4) Gurnar Myrdal
Options :

92090694797. 1
92090694798. 2
92090694799. 3



92090694800. 4

Question Number : 100 Question Id : 92090623983 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090694797. 1
92090694798. 2
92090694799. 3
92090694800. 4



